ERERRER BYMAT FR27ERYVIINT—H {43 TANAK SYSTEM 201646 A9H
No.1 HAZ [E4% No.4;M A L 25
‘ Bi$86.6kV/210-105V = 186.6kV/210V
i 75kVA 150kVA
|
|
|
|
|
|
i ‘LIS1A llIS(SA
|
|
\ _ - e
; 1852 4 4% 5 BERHE R
| X xia X xaa =% W
Y
L-N-B1 P-N-B1
EM-CET 14sq EM-CET 100sq
27.5m 20m
77777777777777777777777777777777 ) {0 A%
i | P-B1
3 Q wr |
| |
| |
| REN |
| \LIS3B |
i i
| |
i i
i BEEHER
i X3B i
| |




ERERGEE (48342 BYMEWH FR27ERYVIINT—45 {8445 TANAK SYSTEM 20164E6 H9H
.| RS EEBEREE HEERE HERE
Z i EX x l
EEHREH | BRAR [Hz] EERIE PT [kVA] VB [V] PB [kVA]
NO.4 =ik 50 A 150 210 1,000
\ - @EEH o QERKRE 5EHRE X3A - DL% Y e X3B
EiR%A E—4 ., EEH%IIE—H . s B %I UE—H . s
OB/ E-22 %4 YE—H2 ORE#NE-52 wAVE—5v2 | IchiBERER @BMRwAVE—2 E—5v2 cHzERER
TN | EER| RER BR | gexs EARE MR = |HRREA . =# |ERREA
RN | TRE EEE | %10~ | gm0 %ZTH %ZT %Z8 TR EEE | L. | ERRUTTN w %W %Z EHRET | BB
B BE B2 (= 9%XM) ERAE *"“;EL‘LE —— ERAE
[} = [A=R 1] A s
1L E PL %zl | ezt %RT* | %XT* | %RT | %XT | %RS | 9%Xs | ISSA 2l R | RV W e | oexw | %R | oex | 138
kAl | V1 | [KVA] | (=%xXL) | (S %XMx) kAl [kA] [mm2] [m] | [Q/km]|[Q/km] [kA] [kA]
14.93 EM-CET 2276
1250 | 6.60 | 142,895 0.70 25 166.67 0.86 2.15 573 14.33 573 379 18.41 22 P-B1 100 20 0.187 | 0088 | 848 3.99 a2 | 1778 12.08 14
1) ERER P-1-1 E“;:gg 30 3400 | 0091 | 23129 | 619 oo 02337['81 998 1.16 25
- CCICVIS3A - BEEHKRA X3A [CETR ZHRERET KA EM—CET 3145
IS3A = m IS3B : EEE%;—\ X3B lCB(?%:E’fEﬁﬁ%%/ﬁf. [kA] P-1-2 100 40 0.187 0.088 16.96 7.98 2269 [ 2177 8.74 10
-VB-%. JOV . .
PB : HEA= [kVA] EM-CET 49.56
ey VB : EEEE [V] P-2-1 33 35 0491 | 0096 | 3897 | 762 |— = [ o171 5.55 75
IS3B = m %ZS : %‘,Iﬁfﬁﬁ/(_t) |~»fyt°—9)1 EM-CET 38.95
° %Z : £)i—tY M IE=HYR P-R-1 150 75 0124 | 0085 | 2109 | 1446 — 7 [ 2825 7.06 75
2) =tV MIE=4VR - -
EM-CE 104.57
N S HS R N S HS —|
DLNN—t Y M IE—HU2A%Z QERN—tYMIE—HVA%ZL P-EV 29-30 50 0.849 | 0082 | 96.26 9.30 101.99[ 23,09 263 5
PB PB
[} = 0 i0, = 04 R2 04X2 [} = 9 = — . = — =
%Z = %R + j%X = 4 %R2 + %X WZL = J9XL = = g t100 = 5100 I

%R = %RS + %RW, %X = %XS + %XW

2){\—t Y MER

28—tV NT7HRIVA
BRBA—tY MER
%RW : BRI -tV MEH

%XS : BRBE/ -tV NTIEIVA
%XW : BR)I—EVNITHEVA

CCIZ, %R :
%X :
%RS :

EETER) kA

CCIC L EESIRAERER (RITEER 2R ERE

E: ZEEFIRAERE V]
PL : 2EREHEE [kVA]

PB
%ZM = j%XM = T * %6 XMx*

CCIZ, %XM* :

QEBEHBEN-EYMIE—HVA%ZS

(%ZL + %ZT) -%ZM

%ZS =
%ZL + %ZT + %ZM

(=%ZT)

%ZS = %RS + j%XS = 4 %RS? + %XS?2

(%XL + %XT) - %XM

%RS = %RT. %XS =

CZI2. %zZL - BRIS-tEYMIUE—SHVR
%ZT : ZEZ/IS—tIMIE—HVR
%ZM : BEIME/ -tV M UE-H VA
%RT : ZEEE/I -tV MEHR
%XL : BR/I—tYMTIEVR
%XT : ZEESF/I -V NTHEIVA
%XM : BEIMEI -V NITHAVA

%XL + %XT + %XM

B/t M UE—5U2%ZM

BEEE WU TIIVA(REREWERD
PT : ZEHREERBE kVA]

%ZT = %RT + j%XT

CCIZ, %RT* :
%XT* :

(=9%XT)

BEMREA)

OZEER/I —tYMIE—HUA%ZT

PB PB
[ =-—— .9 *x _ O =-— .0 *
%RT PT %RT* . %XT PT % XT:

EER) -ty MER (RERSHRER
EEFIS-EVMTHIVA (B

BRII-tY M UE-5VA%ZW
%ZW = %RW + j%XW

RW-PB
VB2

%RW =

XW :
I BROOK [m]

*1+100, %XW =

XW-PB
VB2

*1-100

CCISRW : BIROBKIESR [Q /km]
BIROUTIIVALQ /km]

l

5% (1) Z#RE PB (£ 1,000kVA £F 3,
BEHE %A VE—H VA %XM* [F 25% £F 3,
TBRBENI—EIMIUE=SHYR %ZS [k, %ZS = %ZT £33N TES,
(%ZS = %ZT ELTEHTBI5E(1E. %RS = %RT, %XS = %XT L. QRUDEEKT S, )
TBRN—tEYMUE—HVA %ZL (&, BRIV MTHEVR %XL ELTEZ S,

(2
@3

(4
(5

BEME) -V MIUE-HVR %M (F. BEIE) -V MITDEIVA %XM ELTEZD,




ERERAEE (HAEMR) BYMEWH FR27ERYVIINT—45 {8445 TANAK SYSTEM 20164F6 H9R
.| RERE EERERETE HEBE HERE
Z i EX x l
REHS BEAR| o PT [kVA] VB [V] PB [kVA]
No.1 HAE34R 50 A 75 210 1,000
. , o QERKRE Em X1A o by DE%1Y EHm X1B
=35 0, ~ . o= 0, S HS Fis0 S EP—H A f t i
OBRA L2 QREENAVE-T2 wAVE—5VA | IchiiBERER OBRNAE-H2 E—5vR Bl ERER
TENS | LER| 284 | BR EESERER B | BRRER e B | EREER
RGN | 1K SR | %Vt — 67T %ZT %ZS MR | ERREN | e BRRUT-T zw %2ZW %z ERET | EEBE
B | BE 52 EEER | i - EW
g Y I -
L E PL %zL %RT* | %XT* | %RT | %XT | %RS | %XS IS1A mHAE & RW KW grw | oexw | 9R %X 1518
KAl | V] | [kVAl | (=%XL) kAl [kA] [mm2] [m] | [Q/km]|[Q/km] [kA] [kA]
22.97 EM-CET 183.28
1250 | 6.60 | 142,895 | 0.70 1.00 135 | 1333 | 1800 o 2073 22 L-B1 I 275 | 1340 | 0107 | 16712 | 1334 [—r [ sz0a 2.60 5
1) SRER L-N-1 E'::gg 30 3400 | 0091 | 46259 | 1238 [ 94277"933’ o8 1.00 25
. CCICUISTA  BRER A XIA CHIREAERER kAl BT ETTY
IS1A = oo oo IS1B : ZTE5E#R A X1B [CHTZEIBEHRET [KA] L-0A-1-1 N, 30 1340 | 0107 | 18231 | 1456 |————o " 2376 2.40 25
PB : 2#A&=E [kVA] EM-CET l l
- VB : EEEF [V] " 30 1340 | 0.107 | 182.31 | 1456 |
IS1B = oo %ZS : BRBRE -tV MIE—4VR L oA =2 e 428.76
L 1 %Z : &£)5—tYMUE—SYR P e_ac 15 3400 | 0091 | 23129 | 619 oo XS 1.11 25
2) SS—EYMUE—HU2 EM-CET 20,92
DeN-tYMIE—HY2%Z QERN—tYMIE—HUA%ZL L-1-1 60 35 0.311 | 0.091 49.37 | 14.44 6270 ‘ 3314 6.71 75
. . PB PB EM-CET 108.59
%Z = %R + j%X = 4 %RZ + %X2 %ZL = j%XL = ———————— =100 = — 100 -
6 R + j% 6 6 6 i% TIXILXE L L-1-2 2 40 0491 | 0096 | 89.07 | 1741 [0 X 439 5
%R = %RS + %RW, %X = %XS + %XW ——- 1 . S fBil4S -
’ ’ ’ ’ ’ ’ cele L E§%1 «k?ﬂﬁ%%m (RISEEBT 2R L-1-3 | ™M ngT 50 0849 | 0103 | 19252 | 2336 [ 8?0"122 w22 25
CCIT. %R 22—ty MER i) = : :
%X . /it MDY E ZES1RAIEE kv Lo | EM-CET 45 0.187 | 0088 | 38.16 | 17.96 6321 753 10
%RS : BEMA )~y MEH REAEKEE VA 100 5150 | 3666
=W - o= N S —H -
%RW : B/t MEH @EE%N Y MUE=SY2%2T L-2-2 EM]5COET 60 | 0.124 | 0085 | 3374 | 2818 (- 0762"974] | 756 10
%XS BRAN—TYNT7HEVA 9%ZT = 9%RT + j9%XT - -
%XW : BR)I—EVNITHEVA \
PB PB
0 = — 0, 0, = — 0
— 9%RT = - 96RT* . %XT = = - 9%XT* ‘
SRR — 47 P —H 0,
CRREE/ L MYE-SY %2 STIC. S6RT* ; BER/ Y HER EEREREA
() . P 4, kT N 5
%25 = %ZL + %ZT (= %ZT) X T : %li%%l?_&tzlﬁ) DAV (B#E ‘
BEHWET)
[ = 0 H = J 0, 2 ) 2
%ZS = %RS + j%XS YRS + %6XS BOERN—EY M IE—HYI2%ZW ‘
9%RS = %RT. %XS = %XL + %XT (= %XT) %ZW = %RW + j%XW
ZZI2. %ZL : BRIty MIE-HUA %RW = RW'EB.2.|.1OO‘ %XW = XW'SB.2.|.]00
%ZT : EEBS—tYMUE—HYR VB
[ . PR — —
%oRT z&%&;( v HER COIC RW : B OBIKIER [Q /km]
%XL : BR/SS—EVMIPHEVA XW - BEOYTHEVA[Q /km]
%XT : % S—tEY MDA - R
6 EER/RI—EINTHEIVA | BECSE [m]
5% (1) Z#RE PB (£ 1,000kVA £F 3,
(2) a,ﬁﬁa’a N—=tI MM IE—HYR %ZS (&, %ZS = %ZT £T3ENTED,
(%ZS = %ZT ELTEHTBIHE(E. %RS = %RT, %XS = %XT &L, QAT S, )
3) BRNA—tYMIE—SFVR %ZL (&, BRItV MTHAVA %XL ELTEZS.




